
 



 
 
 



 

 
 

3. 𝐷!/𝐷" = 1/10 
Hm = 10 meters, 𝐻"= 30 m, 𝑁"= 425 m, 𝑃!= 125 kW, 𝑄!= 1.1 𝑚#/𝑠 
 
(i)  

𝑁!$ = 425$ × 10/30 × 4$ = 981.49 rpm. 
 
(ii) Power of prototype 

 

𝑃"= (425/981.49)$ × 4% × 125 = 10392.48 kW 
 
(iii) Type of turbine 

𝑁&"= 
'!×)*!
+!"/-

 = -$%×√/0#1$.-3
#0"/-

  = 617.08 rpm. 
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4.  
4#
4!

 = /
/0

., 𝐻!= 5 m ., 𝐻" = 8.5 m., 𝑃" = 8000 kW., 𝑁"= 120 rpm ., 𝜂5 = 0.85 

 => 𝑁! = 920.35 rpm. 

𝜂5= 
*!

6.7!.+!
 => 𝑄" = 0.1128 𝑚#/𝑠𝑒𝑐 

8'√*
+#
"/%9

"
 = 8'√*

+#
"/%9

8
 => 𝑃!= 36.093 kW. 
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